MBA60 Inc. is a small, but growing, producer of hot and ready-to-eat breakfast cereals. Two machines are used for packaging 510-gram (18-ounce) boxes of sugar-coated wheat cereal. Estimate the difference in the mean weights of boxes of this type of cereal packaged by the two machines. Use a 95% confidence level and the data in the attached file. Explain your findings.
SOLUTION 

Here we have a sample size n =100 (sample size is same for both the groups) assuming μ1 and μ2 are the population means, [image: image2.png]
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2 are the population standard deviation and S1and S2 are the sample standard deviations of group 1 and 2 respectively(here groups are machines).
Let us first calculate the required statistics by using Excel function. The obtained values of the statistics are given below.
[image: image9.emf]Mean =  520.9 Mean= 513.7

Sample Vaiance = 89.330804 Sample Vaiance = 30.091607

Sample Standard Deviation = 9.4514974 Sample Standard Deviation = 5.4855817

Machine 1 Machine 2


So the estimated difference in the mean weights of boxes of this type of cereal packaged by the two machines is (520.9-513.7) = 7.2 and 

Standard error of (Mean1-Mean2) is [image: image11.png]


 = 1.0928.
And for 95% confidence the critical value Z = 1.96 thus the 95% Confidence interval is given as,

(7.2 - 1.96*1.0928, 7.2 + 1.96*1.0928) = (5.0591, 9.3429)
This interval (5.0591, 9.3429) is implying that we can expect that the population mean difference for machine 1 and machine 2 lies within this interval with probability 0.95 i.e. in a simple language if we draw random samples from two machines then 95 times out of 100 times the population mean difference will lie within this interval. 
